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83679 = 80000 + 3000 4 600 + 70 + 9
= 54318 =| |

@50000 + 4000 + 300 + 10 + 8

@ 50000 + 4000 + 400 + 10 + 8

® 500000 + 40000 + 300 + 10 + 8
@ 500000 + 40000 + 3000 + 10 + 8

® 500000 + 40000 + 3000 + 100 + 8

54318 = 50000 + 4000 + 300 + 10 + 8




@ Aregt A4 @ Atro] 23 91 4
® 5000 < 100 B 5t 4= @)100000 ] 37350 < 4
3 890000 K} 10 T+ = &=
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@ Adgk A = 3000010

@ AHro] 23 ¢1 4= = 2300000
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(1) 18273660 = Tto] | L ol |

(2) 96820261 = THo] |

@ (1) 1827, 3660 (2) 9682, 0261
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@)(1) 1827, 3660 (2) 9682, 261
® (1) 8273, 3660 (2) 9682, 261
@ (1) 1827, 366 (2) 9682, 261

® (1) 1827, 3660 (2) 968, 261
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(1) 18273660 : 18279t 3660
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@ 940, 50, 4801, 736 @ 940, 50, 480, 1736
@9408, 50, 4801, 736 @ 9408, 504, 480, 1736

® 9408, 504, 4801, 736

9408005048010736
— 9408 & 50 %] 4801 T+ 736
Z7} 9408, 910] 50, Tto] 4801, 1°] 736 <1 4=
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O 70 T @ 90 vt @150@
@ 110 & ® 130 gt
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@® 10005, &, 104
@100‘1}, 10005, <
® 100000, 1000000, 10000000
@ 100, 1000, 10000

® 10079, 10005 104
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@ (1) 1200 (2) 16000
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@ (1) 120000 (2) 160000
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12000 Y Yt

(2) 100°] 10°]H 1000 °] 1L o] A o] 16 FH2o|H
16000 Y Yt
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@ 1 ZE 10000000000 ©]2tal 54,
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@ 100 99| 10 vi= 1000 J A Yt
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(1) 3727 9F +1903 T+ O 27373627 + 27373262
(2) 1039 T+ +1737 9F O 10000000 + 12847367
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22X A AAFSHH 54746889 YU Tt
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AR 27760000
S BE Mg Aot 22847367 YU T
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